B WM

J9 J10
ScL 1 J7 +5V +5V. | 1 J30 VCC J31 J1 VCC J2 J3 VCC J4
SDA 2 1 GND | 5 PH6 1 2 1 TXD3 1 2 1 PGO L1 2
AREF 3 2 TXD1 | 3 PH5 - > RXD3 3 4 2 PL7 -
GND 2 RXD1 | 4 PH4 5 6 3 TXD2 5 6 3 PL6 5 6
PB7 5 PH3 7 8 2 RXD2 7 8 2 PL5 L7 g
PB6 6 TXDL 9 10 5 PL4 L9 10
PB5 7 J8 RXD1 1 12 6
PB4 8 1 J19 Header 5X2
PHE +5V
PHS ?O 2 GND | % J40 Ja1
=3 TXD2 | 3 PE3 |1 2 1 J15 J16
RXD?2 | 4 PG5 I 2 J13 J14 PL3 1 2
I a=F L : e
7 8 —— 4 3 4 2 | B 6
PCO 1 2 | PC1 Ji1 1 PAQ 5 6 3 PLO | 7 g
PC2 | 3 4 PC3 AREF 1 = PAL 7 8 4
PC4 PC5 GND
—= 15 6 t 2
PC6 l 7 g | PC7 PB7 | 3 J21
PAT l9 10 | PA6 PB6 | 4 PH4 | 1 J29
PAS ' 11 12 | PA4 PB5 | 5 PH3 | 5 +5V | 1 J24 J25
PA3 | 13 14 | PA2 PB4 | & PE3 | 3 GND | 5 J22 J23 PB3/MISO 1 2
PAL | 15 16 | PAO PHB | 7 PG5 | 4 TXD1 | 3 PA2 1 2 1 PB2/MOSI 3 2
PH5 | g PES | 5 RXD1 | 4 PA3 3 4 2 PB1/SCK 5 6
T A ; ms 17 g
128 320 RXD | : v & & =
PBO/SS L1 o PB1/SCK PH4 | 135 —
PB2/MOSI 3 4l PB3/MISO PH3 L5 +5V L
PLO g &l PLL PE3 | 3 Sl —mm— ||. GND | 5 J5 \Vele 16
PL2 ' 7 g PL3 PG5 | 4 TXD3 | 3 PAG 1 2
PL4 9 10 | PLS PES | 5 J38 RXD3 4 PA7 3 4
PL6 | 50 %2 | PL7 PE4 | & < q D2 pPC7 3
PGO | 13 14 | PG1 XD | 7 +5V | 5 /jv PC6 7 8
PG2 | | PD7 RXD | RESET vee R10 | PC5
15 16 8 8 WA- | 9 10
3v3 | 4 J39 1K |
+5V | 5 +5V |1 LEDO Header 5X2
J36 J37 J34 GND 6 GND | 5
ADCO 1 1 ADC8 TXD3 1 GND 7 SCL. | 3
ADC1 2 2 ADC9 RXD3 2 VIN 8 SDA | 4 J45 J17 J18
ADC2 3 3 ADC10 TXD2 3 PB3/MISO 1 2 +5V PC4 L1 2
ADC3 2 2 ADC11 RXD2 2 PB1/SCK 3 4 PB2/MOSI PC3 -
ADC4 5 5 ADC12 TXD1 5 D1 PB4 RESET 5 6 GND PC2 5 6
ADC5 6 6 ADC13 RXD1 6 /54 PCL 7 8
ADC6 ADC14 SDA R1 ICSP
7 7 7
ADC7 8 8 ADC15 scL 8 1K 3.3V
Action SD
Socket J65
4 J26 J27
33V U3 | Ve | 3 PWR Pco L
J32 +5V 133 1 [ vee 1 PD7 3 4
2DCB 1 2 1 1y 2 2 cs FG2 5 6
ADC? sbCs 3 4 3 P? PG1
ADC8 g & 2 PEzMos 5 | A 2Y ¢ | 2 v @
ADCY 5 @ g PUSCK 7| 20 3Y 1o peamiso 7 | oK VCC | & =
% 7 8 4 tg 1 3A 4Y > I DO sy, 12
ADCIO 9 10 5 L 4A 5Y == —— RSV 1 3
14 6a GND L_l_ 155 2 SHIELD hleaders
— SHIELD
J42 J43 CD4050 = 2 Ccs | 1 SHIELD
ADCL1 GND CD [ 12
=% 1 2 1 33V 1 5 SHIELD
— 3 4 2 : GND RobotOyn
ADC13 T
ADC14 3 G g ! :
ADC15 ; 18 g Cl C2 =
0.1uF 0.1uF GND
GND




